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5 (a) In the triangle xyz, | xy | = 3 cm,

| yz | = 4 cm and ∠ =xyz 60o.
Use the cosine rule to find | xz |,
correct to one place of decimals.
[See Tables, page 9.]

(b) θ  is an acute angle where tan .θ = 5
12

Find, as a fraction, the value of
(i) cosθ
(ii) sinθ
(iii) cos .2θ  [Note: cos cos( ).2θ θ θ= + ]

(c) abc is a triangle and d bc∈[ ],  as shown.

If | bd | = 4 cm, | ac | = 6 cm, ∠ =acd 65o

and ∠ =dac 70o,  find
(i)  | dc |, correct to the nearest cm

(ii) the area of triangle abc, correct to
the nearest cm 

2.

ANSWERS

5 (a) 3.6 cm
(b) (i) 12

13 (ii) 5
13 (iii) 119
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